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Come all with us, harmonious tongues

Bromsgrove, attrib. Thomas Collins (fl 1790)
Edited by Francis Roads
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Circled numbers correspond with lines of text.

2. The King of glory sent his Son
    To mortals here on earth.
    Behold the midnight bright as noon,
    Whilst angels sing his birth.

3. About our young Redeemer's head
    Behold, what glories meet!
    A glorious star is risen to lead
    The sages to his feet.

4. Glory to God in highest strains,
    And peace on earth be given!
    For now the infant Saviour comes
    With messengers from heaven.
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
Come allwith us, har mo- nious- tongues,



Your no blest- mu sic- bring. Our



Sa viour-


Come allwith us, har mo- nious- tongues,Your no blest- mu sic- bring. OurSa viour-
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Come  allwith us, har mo- nious- tongues,Your no blest- mu sic- bring. OurSa viour-
Come

 
 allwith us, har mo- nious- tongues, Your no blest- mu sic- bring. OurSa viour-
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
Christ this day was born, With



joy to him we sing, With



joy to him we sing.


Christ this day was born,With joy to him we sing, With joy to him we sing.
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Christ this day was born, With joy to him we sing, With joy to him we sing.
Christ this day was born, With joy to him we sing, With joy to him we sing.
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